=
<

g s | |
= g f
4 o107 :
g ° :
-2 : :
10 10—2 aBRREE - A
= : : T
107 e - R § R RS
° I o 10— N R P 1 N A PO PPN
T r T r g :
04 r 24 C T :
1_— ----- EeY T 1_— ----- e Y s ------------
0.95C - . . 950 - x = .
10™ 1 1 -1 10™ 1 1 -1
0 TP poT (PCA tloobeamllnef) 0 TP poT (PCA tloobeamllnef)
—s=— DQM_V0001_R000000001__Global__mkFit_1kstable
—— DQM_V0001_R000000001__Global__mkFit_CAND1kstable
> = 1
= 1] :
2 e
> 3
2 =
5 ]

H
S
L

0.95

1

o p/p.)

-+

; I : 2 3
1 TPl[:g)T (PCA t%)obeamlin%)o

10\—1% T

1



	Contents
	Page 1


